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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 92

{df`	 :	 newnmbZ Ed§ Xþ½Y {dkmZ

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m `m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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(Set I)
gm_mÝ` kmZ

general knowledge

	 1.	 amO^mfm H$s{V© nwañH$ma `moOZm H$m _w»` CÔoí` {ZåZ{b{IV _| go H$m¡Z-gm h¡ ?
	 (A)	 Am{YH$m[aH$ H$m`m] _| {hÝXr Ho$ à`moJ H$mo àmoËgm{hV H$aZm 
	 (B)	 Am{YH$m[aH$ H$m`m] _| A§J«oOr H$mo àmoËgm{hV H$aZm 
	 (C)	 ^maV _| joÌr` ^mfmAm| H$mo ~‹T>mdm XoZm 
	 (D)	 {hÝXr Ho$ H${d`m| H$mo gå_mZ XoZm 

		  Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

	 (A)	 To encourage the use of Hindi in official work

	 (B)	 To encourage English in official work

	 (C)	 To Promote regional languages in India

	 (D)	 To honour Hindi poets

	 2.	 CËgd nmoQ>©b {H$g df© àmaå^ {H$`m J`m ?
		  In which year was the UTSAV portal launched ?

	 (A)	 2024	 (B)	 2023	 (C)	 2020	 (D)	 2022

	 3.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
		        gyMr – I		     gyMr – II

	     (boIH$)		  (nwñVH$)

	 a.	 AaqdX A{S>Jm	 I.	 X Jm°S> Am°\$ ñ_mb {W§½g
	 b.	 {H$aU XogmB©	 II.	 X BZho[aQ>|g Am°\$ bm°g
	 c.	 Aé§YVr am°`	 III.	 X ìhmBQ> Q>mBJa
	 d.	 dr. Eg. Zm`nm°b	 IV.	 BZ E \«$s ñQ>oQ>
		  Hy$Q> :

	 (A)	 a – I, b – III, c – II, d – IV		 (B)	a – III, b – II, c – I, d – IV

	 (C)	 a – II, b – IV, c – I, d – III		 (D)	a – IV, b – I, c – III, d – II

		  Match list – I with list – II and select the correct answer from the code given below the lists.

		      List – I		      List – II

	   (Author)		  (Book)
	 a.	 Arwind Adiga	 I.	 The God of small things

	 b.	 Kiran Desai	 II.	 The Inheritance of Loss

	 c.	 Arundhati Roy	 III.	 The White Tiger

	 d.	 V. S. Naipaul	 IV.	 In a free State

		  Code :
	 (A)	 a – I, b – III, c – II, d – IV			  (B)	 a – III, b – II, c – I, d – IV

	 (C)	 a – II, b – IV, c – I, d – III			  (D)	 a – IV, b – I, c – III, d – II
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	 4.	 H$m¡Z-gr ^maVr` H$ånZr, 2024 _| é. 20 bmI H$amo‹S> H$m ~mOma ny±OrH$aU hm{gb H$aZo dmbr ^maVr` nhbr 

H$ånZr ~Z J`r ?

	 (A)	 [abm`§g B§S>ñQ´>rO			 

	 (B)	 Q>r.gr.Eg.

	 (C)	 EM.S>r.E\$.gr. ~¢H$			 

	 (D)	 AS>mZr E§Q>aàmBOoO

	 	 Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh 

crore in 2024 ?

	 (A)	 Reliance industries			 

	 (B)	 T.C.S.

	 (C)	 HDFC Bank			 

	 (D)	 Adani Enterprises

	 5.	 {H$g Iwe~yXma CnO Ho$ CËnmXZ Ho$ {bE ZmJm¡a à{gÕ h¡ ?

	 (A)	 Oram			   (B)	 _oWr	

	 (C)	 bhgwZ			   (D)	 Y{Z`m

		  Nagaur is famous for the production of which aromatic crop ?

	 (A)	 Cumin seeds			   (B)	F enugreek	

	 (C)	 Garlic			   (D)	 Coriander

	 6.	 ^maV H$m nhbm nwZ:à`moÁ` hmB©{~«S> amHo$Q> é_r - I àjo{nV {H$`m J`m

	 (A)	 31 {Xg§~a 2024			 

	 (B)	 04 {Xg§~a 2024

	 (C)	 04 {gV§~a 2024			 

	 (D)	 24 AJñV 2024

	 	 India’s first reusable hybrid rocket Rhumi-I was launched on

	 (A)	 December 31, 2024			 

	 (B)	 December 04, 2024

	 (C)	 September 04, 2024			 

	 (D)	 August 24, 2024



	 -4-	 92

	 7.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

		  gyMr – I		       gyMr – II

	 (_wŠV {díd{dÚmb`)		   (ñWmZ)

	 a.	 ½bmo~b _wŠV {díd{dÚmb`	 I.	 H$moQ>m

	 b.	 ZoVmOr gw^mfM§Ð ~mog _wŠV {díd{dÚmb`	 II.	 H$mobH$mVm

	 c.	 dY©_mZ _hmdra _wŠV {díd{dÚmb`	 III.	 {dbmgnwa

	 d.	 n§. gwÝXabmb e_m© _wŠV {díd{dÚmb`	 IV.	 Xr_mnwa

		  Hy$Q> :
	 (A)	 a – IV, b – III, c – II, d – I		 (B)	a – III, b – II, c – IV, d – I

	 (C)	 a – II, b – I, c – IV, d – III		 (D)	a – IV, b – II, c – I, d – III

		  Match list – I with list – II and select the correct answer from the code given below the lists.

		            List – I		   List – II

	 (Open University)		  (Place)

	 a.	 Global Open University	 I.	 Kota

	 b.	 Netaji Subhashchandra Bose	 II.	 Kolkata

		  Open University

	 c.	 Vardhman Mahaveer	 III.	 Bilaspur

		  Open University

	 d.	 Pt. Sundarlal Sharma	 IV.	 Dimapur

		  Open University

		  Code :

	 (A)	 a – IV, b – III, c – II, d – I		 (B)	a – III, b – II, c – IV, d – I

	 (C)	 a – II, b – I, c – IV, d – III		 (D)	a – IV, b – II, c – I, d – III

	 8.	 BZ_| go H$m¡Z {ejm H$m EH$ AZm¡nMm[aH$ A{^H$aU g«moV Zht h¡ ?

	 (A)	 n[adma			   (B)	 g_wXm`

	 (C)	 gm_mÝ` Iob			   (D)	 Ym{_©H$ g§ñWmE±

		  Which one of the following is not a source of informal agency of education ?

	 (A)	 The family			   (B)	 The community

	 (C)	 General games			   (D)	 Religious institutions
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	 9.	 {ZåZ H$mo EH$ AZwH«$_ _| àmaå^ go ewê$ H$aHo$ ì`dpñWV H$s{OE &
	 I.	 emoY g_ñ`m H$m M`Z
	 II.	 emoY {d{Y
	 III.	 emoY Ho$ CÔoí`
	 IV.	 Am±H$‹S>m| H$m g§J«h

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II
	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV
		  Arrange the following from beginning in a sequence. 
	 I.	 Selection of research problem
	 II.	 Method of research
	 III.	 Objective of research
	 IV.	 Data collection
		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III			   (B)	 I, IV, III, II
	 (C)	 II, III, IV, I			   (D)	 I, III, II, IV

	 10.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : EZ.AmB©.Ama.E\$. EH$ a¢qH$J àUmbr h¡ {Ogo ^maV gaH$ma Ho$ {ejm _§Ìmb` Zo 2015 _| ewê$  
	        {H$`m Wm & 

		  H$maU (R) : EZ.AmB©.Ama.E\$. H$m CÔoí` {d{^ÝZ _mnXÊS>m| Ho$ AmYma na ^maV ^a _| CÀM {ejm g§ñWmZm| H$m 
{Zînj Am¡a nmaXeu _yë`m§H$Z àXmZ H$aZm h¡ &

		  ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :

		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R) , (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R) , (A) H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡ 
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,  

		  Govt. of India in 2015.
		  Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education  

	          institution across India based on various parameters.
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)
	 (C)	 (A) is true but (R) is false
	 (D)	 (A) is false but (R) is true
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	 11.	 àemgZ _| {~J S>oQ>m EZm{b{Q>Šg Ho$ à_wI Cn`moJ Š`m h¢ ?

	 a.	 ~r_m[a`m| Ho$ àgma na ZOa aIZm &

	 b.	 MwZmd n[aUm_m| H$s ^{dî`dmUr H$aZm &

	 c.	 gmB~a gwajm ~‹T>mZm &

	 d.	 gaH$mar H$a amOñd _| d¥{Õ &

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

		  Hy$Q> :

	 (A)	 Ho$db a, b, c 			   (B)	 Ho$db a, c, d

	 (C)	 Ho$db c, b			   (D)	 Ho$db b, d

		  What are the major uses of Big data Analytics in governance ?
	 a.	 Tracking the spread of diseases.
	 b.	 Predicting election outcomes.
	 c.	 Enhancing cyber security.
	 d.	 Increasing govt. tax revenue.

		  Choose the correct answer from the code given below :

		  Code : 
	 (A)	 a, b, c only			   (B)	 a, c, d only
	 (C)	 c, b only			   (D)	 b, d only

	 12.	 ãby_ Ûmam à{Vnm{XV kmZmË_H$ e¡{jH$ CÔoí`mo§ _| {ZåZ{b{IV _| go H$m¡Z gpå_{bV Zht h¡ ?

	 (A)	 ~moY	 (B)	AZwà`moJ	 (C)	 {díbofU	 (D)	 ì`dñWm

		  Which of the following is not included in the cognitive educational objective proposed by bloom ?

	 (A)	 Comprehension	 (B)	 Application	 (C)	 Analysis	 (D)	 Organization

	 13.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ AmB©.gr.Q>r. àUmbr H$m KQ>H$ Zht h¡ ?

	 (A)	 hmS>©do`a	 (B)	 gmâQ>do`a	 (C)	 gyMZm	 (D)	 ~m`mo_o{Q´>H$ g|ga

		  Which of the following is not a component of an ICT system ?

	 (A)	 Hardware 	 (B)	 Software	 (C)	 Information	 (D)	 Biometric sensors

	 14.	 H$åß`yQ>a H$s _o_moar Omo CgHo$ {Z_m©U Ho$ g_` àmoJ«m_ H$s OmVr h¡, H$hbmVr h¡ 

	 (A)	 Ama Amo E_	 (B)	Ama E E_	 (C)	 nr Ama Amo E_	 (D)	 B© nr Ama Amo E_

		  The memory of the computer which is programmed at the time of its manufacturing is called as 

	 (A)	 ROM	 (B)	 RAM	 (C)	 PROM	 (D)	 EPROM
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	 15.	 {ZåZ _| go H$m¡Z EH$ H¥${Ì_ ~w{Õ_Îmm (EAmB©) CnH$aU Zht h¡ ?

	 (A)	 JyJb ßbo ñQ>moa			   (B)	 Oo{_Zr

	 (C)	 ŠbmCS>			   (D)	 M¡Q> OrnrQ>r

	 	 Which one of the following is not an Artificial Intelligence(AI) tool ?
	 (A)	 Google play store			   (B)	 Gemini
	 (C)	 Claude			   (D)	 Chat GPT

	 16.	 {ZåZ{b{IV _| go H$m¡Z _¥Xm àXÿfU H$m H$maU h¡ ?

	 (A)	 AmoOmoZ	 (B)	 Eamogmb	 (C)	 E{gS>-dfm©	 (D)	 ñ_moJ

		  Which of the following is the cause of soil pollution ?
	 (A)	 Ozone	 (B)	 Aerosol	 (C)	 Acid-rain	 (D)	 Smog

	 17.	 ""{bpå~H$ VÝÌ'' ^mJ h¡

	 (A)	 àOZZ VÝÌ H$m			   (B)	 V§{ÌH$m VÝÌ H$m	

	 (C)	 nmMZ VÝÌ H$m			   (D)	 CËgO©Z VÝÌ H$m

		  “Limbic system” is part of 
	 (A)	 Reproductive system			   (B)	 Nervous system	
	 (C)	 Digestive system			   (D)	 Excretory system

	 18.	 {ZåZ{b{IV _| go H$m¡Z ^maV _| 31 {Xg§~a 2024 VH$ am_ga ñWb h¡ ?

	 a.	 ~{Iam dÝ`Ord A^`maÊ`	

	 b.	 am_J‹T> Prb

	 c.	 gwÝXa~Z AmÐ©^y{_

	 d.	 gwëVmZnwa amîQ´>r` CÚmZ

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :

	 Hy$Q> :

	 (A)	 Ho$db a Am¡a b			   (B)	 Ho$db b, c Am¡a d

	 (C)	 a, b, c Am¡a d			   (D)	 Ho$db a Am¡a c

		  Which of the following is a Ramsar site in India as on December 31, 2024 ?
	 a.	 Bakhira Wildlife Sanctuary
	 b.	 Ramgarh Lake
	 c.	 Sundarban Wetland
	 d.	 Sultanpur National Park

		  Choose the correct answer from the code given below :
		  Code :
	 (A)	 a and b only			   (B)	 b, c and d only
	 (C)	 a, b, c and d 			   (D)	 a and c only
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	 19.	 "~¡aZ' Ûrn pñWV h¡§
	 (A)	 AÊS>_mZ _|	 (B)	 {ZH$mo~ma _|	 (C)	 bjÛrn _|	 (D)	 {_{ZH$m` _|

		  ‘Barren’ Island is situated in
	 (A)	 Andaman	 (B)	 Nicobar	 (C)	L akshadweep	 (D)	 Minicoy

	 20.	 AmU{dH$ D$Om© g§ñWmZ, Q´>må~o H$s ñWmnZm H$~ hþB© Wr ?

		  In which year Atomic Energy Institute, Trombay was established ?

	 (A)	 1948	 (B)	 1950	 (C)	 1952	 (D)	 1954

	 21.	 ZrMo AmÐ©^y{_ ñWb Ed§ amÁ`m| Ho$ Zm_ Ho$ Omo‹S>o {X`o J`o h¢ & ghr Omo‹S>m§o H$m MwZmd H$s{OE &

	 	 AmÐ©^y{_ ñWb		  amÁ`
	 1.	 eŠ` gmJa          –		  _Ü`àXoe
	 2.	 {ganwa> doQ>b¡ÊS>     –		  {Ìnwam
	 3.	 nmbm doQ>b¡ÊS>      –		  _oKmb`
	 4.	 gwa gamoda          –		  CÎmaàXoe 
	 (A)	 1 Ed§ 2 ghr h¡§ 			   (B)	 1 Ed§ 4 ghr h¡§
	 (C)	 2 Ed§ 3 ghr h¡§			   (D)	 2 Ed§ 4 ghr h¡§
		  Ramsar sites and name of states paired below. Choose the correct pair.
	 	R amsar Site 		  state 
	 1.	 Sakya Sagar	 –	 Madhya Pradesh 
	 2.	 Sirpur Wetland	 –	 Tripura
	 3.	 Pala Wetland	  –	 Meghalaya
	 4.	 Sur Sarovar	 –	 Uttar Pradesh 
	 (A)	 1 and 2 are correct 			   (B)	 1 and 4 are correct
	 (C)	 2 and 3 are correct			   (D)	 2 and 4 are correct

	 22.	 {H$g A{^boI _| H$mbrXmg Ed§ ^madr XmoZmo§ H$m CZHo$ Zm_m| go CëboI {_bVm h¡ ? 
	 (A)	 à`mJ àepñV			   (B)	 Eohmobo àepñV
	 (C)	 A`moÜ`m A{^boI			   (D)	 {^Var ñVå^ A{^boI

		  In which inscription both Kalidas and Bharavi are mentioned by their names ? 
	 (A)	 Prayag Prashasti			   (B)	 Aihole Prashasti
	 (C)	 Ayodhya Inscription 			   (D)	 Bhitari Pillar inscription 

	 23.	 X{jU A\«$sH$m _| Owbw {dÐmooh Ho$ g_` Jm±YrOr H$mo A§J«oOm| H$s goZm _| H$m¡Z-gr nXdr Xr J`r Wr ? 
	 (A)	 H$Z©b	 (B)	 gmO}ÝQ>	 (C)	 gmO}ÝQ> _oOa	 (D)	 _oOa
		  Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ? 
	 (A)	 Colonel	 (B)	 Sergeant	 (C)	 Sergeant Major	 (D)	 Major

	 24.	 "~m~aZm_m' {H$g ^mfm _| {bIr J`r Wr ? 
	 (A)	 nmagr	 (B)	 VwH$s©	 (C)	Aa~r	 (D)	 CXÿ©

		  In which language was ‘Babarnama’ written ? 
	 (A)	 Persian	 (B)	 Turkish 	 (C)	 Arabic	 (D)	 Urdu 



	 -9-	 92

	 25.	 OZ{hV `m{MH$m H$s AdYmaUm H$s CËn{Îm hþB©
	 (A)	 AmñQ´>o{b`m _|			   (B)	 ^maV _| 
	 (C)	 g§`wŠV amÁ` A_o[aH$m _|			   (D)	 `wZmBQ>oS> qH$JS>_ _o§ 

		  The concept of Public Interest Litigation was originated in 

	 (A)	 Australia			   (B)	 India

	 (C)	 United States of America			   (D)	 United Kingdom (U.K.)

	 26.	 g§{dYmZ g^m H$m àW_ A{YdoeZ gÌ H$~ Am`mo{OV hþAm Wm ? 
	 (A)	 16  AJñV 1947			   (B)	 26  OZdar 1947

	 (C)	 09  {Xg§~a 1946			   (D)	 26  Zd§~a 1946

	 	 When was the first session of constitutional Assembly held ? 

	 (A)	 16th August 1947			   (B)	 26th January 1947

	 (C)	 09th December 1946			   (D)	 26th November 1946

	 27.	 ^maV Ho$ g§{dYmZ _| {ZåZ{b{IV _| go H$m¡Z-gm AZwÀN>oX d`ñH$ _Vm{YH$ma go g§~§{YV h¡ ? 
	 (A)	 AZwÀN>oX 324	 (B)	AZwÀN>oX 325	 (C)	AZwÀN>oX 326	 (D)	 AZwÀN>oX 327

		  Which one of the following articles of constitution of India deals with adult suffrage ?

	 (A)	 Article 324	 (B)	 Article 325	 (C)	 Article 326	 (D)	 Article 327

	 28.	 Mmdb CËnmXZ _| ^maV H$m {díd _| H$m¡Z-gm ñWmZ h¡ ?
	 (A)	 àW_	 (B)	 {ÛVr`	 (C)	 V¥Vr`	 (D)	 MVwW©

		  What is the rank of India in the world in rice production ? 

	 (A)	 1st 	 (B)	 2nd 	 (C)	 3rd	 (D)	 4th 

	 29.	 nr.Eb.AmB©. (P.L.I.) ñH$s_ {H$g EH$ joÌ go g§~§{YV Zht h¡ ?
	 (A)	 _mo~mBb {d{Z_m©U			   (B)	AmQ>mo_mo~mBb CÚmoJ
	 (C)	 {M{H$Ëgm CnH$aU			   (D)	 CnamoŠV _| go H$moB© Zht 

		  PLI scheme is not related to which one of the following ?

	 (A)	 Mobile manufacturing		   	 (B)	 Automobile industry

	 (C)	 Medical devices			   (D)	 None of the above 

	 30.	 ^maV _| ñdV§ÌVm Ho$ níMmV ^y{_ gwYma H$mo bmJy H$aZo H$m àmW{_H$ CÔoí` Wm
	 (A)	 ^y{_hrZ {H$gmZm| H$mo ^y{_ H$m nwZ{d©VaU	 (B)	AMb gån{Îm H$mo ~‹T>mdm XoZm
	 (C)	 H¥${f CÚmoJm| H$mo àmoËgm{hV H$aZm	 (D)	IoVr hoVw H¥${f ^y{_ H$m {ZOrH$aU

		  The primary objective of land reform in India implemented in the post Independence was

	 (A)	 Redistribution of land to landless farmer	 (B)	 To promote real estate 

	 (C)	 Promotion of agro industries 	 (D)	 Privatization of agricultural land for cultivation

(Set I)
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	 31.	 ^maVr` ^¢g H$s Zñb {Og_| dgm H$m g~go A{YH$ _mÌm XÿY _| nm`m OmVm h¡
	 (A)	 _yam©	 (B)	 ^Xdmar	 (C)	 _ohgmZm	 (D)	 gyaVr

	 	 Which breed of Indian Buffalo is specifically renowned for highest content of butter fat in its milk ?

	 (A)	 Murrah	 (B)	 Bhadwari	 (C)	 Mehsana	 (D)	 Surti

	 32.	 ^maV _| newYZ H$s JwUdÎmm ~‹T>mZo Ho$ {bE nhbm à`mg ________

	 (A)	 JhZ newYZ {dH$mg `moOZm			  (B)	 amîQ´>r` JmoHw$b {_eZ
	 (C)	 H$s-{dboO ñH$s_			   (D)	 amîQ´>r` newYZ {_eZ

	 	 The first systematic attempt in India to improve the quality of cattle was

	 (A)	 Intensive cattle development Project (ICDP)	 (B)	 Rashtriya Gokul Mission (RGM)

	 (C)	 Key-Village Scheme (KVS)	 (D)	 National Live-Stock Mission (NLM)

	 33.	 FAOSTAT (2019) Ho$ Am§H$S>m Ho$ AZwgma ^maV H$m ñWmZ A§S>m CËnmXZ _|
	 (A)	 Vrgam	 (B)	 N>R>m	 (C)	 nm±Mdm	 (D)	 Xÿgam

		  According to FAOSTAT production data (2019) the rank of India in egg production is

	 (A)	 Third	 (B)	 Sixth	 (C)	F ifth	 (D)	 Second

	 34.	 S>oZ_mH©$ _| gwAa H$s _yb Zñb _| go H$m¡Z-gr h¡ ?
	 (A)	 Q>o_ dW©			   (B)	 b|S>-aog
	 (C)	 `moH©$-em`a			   (D)	 ~S>r g\o$X `moH©$-em`a

		  Denmark is the native place of following breed of pigs

	 (A)	 Tam Worth			   (B)	L and-race

	 (C)	 York-Shire			   (D)	L arge white York-shire

	 35.	 1930 _| nhbm newnmbZ {deofk H$m¡Z {Z`wŠV {H$`m J`m Wm ?
	 (A)	 S>m. OmohZ AJñQ>mg dmoëH$a			  (B)	 ga AmW©a Amoëda
	 (C)	 ga bmS>© {b§{bWJmo			   (D)	 S>m. Zma_oZ gr. amBQ>

	 	 The first animal husbandry expert in 1930 was appointed by
	 (A)	 Dr. John Augustus Voelkar	 (B)	 Sir Arthur Olver
	 (C)	 Sir Lord Linlithgow			   (D)	 Dr. Norman C. Wright

	 36.	 1972 H$mo newYZ JUZm Ho$ AZwgma Xoe _| ~ËVI H$s OZg§»`m {H$VZr Wr ?
	 (A)	 N>h {_{b`Z	 (B)	 ½`mah {_{b`Z	 (C)	 Xmo {_{b`Z	 (D)	 Zm¡ {_{b`Z

		  According to the 1972 Livestock census the Duck population in the country was about

	 (A)	 Six million	 (B)	 Eleven million	 (C)	 Two million	 (D)	 Nine million

newnmbZ Ed§ Xþ½Y {dkmZ
aNIMAL Husbandry and dairying

(Set I)
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	 37.	 {H$gr Ord Ho$ OrZmoQ>mBn _| AMmZH$ AgVV Am¡a AmZwd§{eH$ n[adV©Z H$aZodmbr KQ>Zm H$hbmVr h¡
	 (A)	 aoßbrHo$eZ	 (B)	AmZwd§{eH$	 (C)	 qbJ n[adV©Z	 (D)	 å`yQ>oeZ

		  The phenomenon causes sudden discrete and heritable change in the genotype of an organism is 
called

	 (A)	 Replication	 (B)	 Heredity	 (C)	 Sex reversal	 (D)	 Mutation

	 38.	 hoarQ>o{~{bQ>r VwÀN> ê$n _| {H$gH$mo àñVwV H$aVm h¡ ?

		  Heritability in the narrow sense is represented by
	 (A)	 Vo/Vp	 (B)	 Vc/Vp	 (C)	 Vp/Vp	 (D)	 Vi/Vp

	 39.	 M`Z à{H«$`m à^mdr hmoVm h¡ CZ JwUm| Ho$ {bE Omo CZHo$ Ûmam {H$`m OmVm h¡
	 (A)	 B>nrñQ>o{Q>H$ OrZ			   (B)	 S>mo_rZoÝQ> OrZ
	 (C)	 ES>¡{Q>d OrZ			   (D)	 CnamoŠV g^r Ho$ Ûmam

		  Selection is effective for those traits which are governed by
	 (A)	 Epistatic genes			   (B)	 Dominant genes
	 (C)	 Additive genes			   (D)	 All the above

	 40.	 Vrgar d§eO _| {dXoer JwUm| H$m AZw_moXZ H$aHo$ {H$VZm JwU ~T>m`m Om gH$Vm h¡ ?
	 (A)	 75 à{VeV	 (B)	 50 à{VeV	 (C)	 87.5 à{VeV	 (D)	 94.0 à{VeV

		  The percentage of exotic inheritance replaced in the 3rd generation through 	  
upgrading is

	 (A)	 75%	 (B)	 50%	 (C)	 87.5%	 (D)	 94.0%

	 41.	 BZ~«rqS>J nyd©Om| Ho$ JwUm| Ho$ dhZ go H$s OmVr h¡
	 (A)	 Q>mn {~«qS>J			   (B)	 ŠbmoO {~«qS>J
	 (C)	 bmBZ {~«qS>J			   (D)	 D$na H$m H$moB© Zht

		  Inbreeding with an ancestral sine is known as

	 (A)	 Top-breeding			   (B)	 Close-breeding

	 (C)	L ine-breeding			   (D)	 None of the above

	 42.	 `moJmË_H$ AmZwd§{eH$ {dMaU Hw$b àmê$nr {dMaU Ho$ AZwnmV H$mo H$hVo h¢ 
	 (A)	 `w½_H$ OZZ	 (B)	AmZwd§{eH$Vm	 (C)	 nmo{bOo{Z{gg	 (D)	 {df_ OZZ

		  The ratio of additive genetic variance to the total phenotypic variance is known as 

	 (A)	 Gametogenesis	 (B)	 Heritability	 (C)	 Polygenesis	 (D)	 Hetrogenesis

	 43.	 ^maV _| ^«yU àË`mamonU Ho$ _mÜ`_ go nhbm ^¢g H$m ~N>S>o H$m OÝ_ _________| gm~a_Vr Aml_ Jm¡embm, 
{dXmO _| hþAm Wm &

	 (A)	AŠQy>~a 1986	 (B)	 OyZ 1985	 (C)	 {Xgå~a 1987	 (D)	 Zdå~a 1987

	 	 In India, first Buffalo Calf through embryo transfer was born in ________ at Sabarmati Ashram 
Gaushala Bidaj.

	 (A)	 October 1986	 (B)	 June 1985	 (C)	 December 1987	 (D)	 November 1987
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	 44.	 EH$ hr àmUr Ho$ OrdZ _| AbJ AbJ g_` na EH$ hr bjU H$s A{^ì`pŠV H$hbmVr h¡

	 (A)	 O¡d-{d{dYVm	 (B)	AmZwd§{eH$Vm	 (C)	 nwZamdÎm©Z	 (D)	 {damgV
		  Expression of the same trait in the life of the same animal at different times is called
	 (A)	 Bio-diversity	 (B)	 Heritability	 (C)	 Repeatability	 (D)	 Inheritance

	 45.	 Jm`m| Ho$ ewê$AmVr, _Ü` Ed§ Xoa Ho$ boŠQ>oeZ H$s H«$_e: {H$VZo {_brJ«m_ gobo{Z`_ à{V {H$. J«m_ ewîH$ nXmW© 
H$s Amdí`H$Vm hmoVr h¡ ?

		  What is the requirement of selenium by cows in early, mid and late lactation respectively in  
mg/per kg dry-matter ?

	 (A)	 2.2, 2.3, 2.5	 (B)	 1.4, 1.6, 1.8	 (C)	 0.3, 0.3, 0.3	 (D)	 0.6, 0.6, 0.6

	 46.	 AÀN>o JwUdÎmm dmbo ^ygo _| Z_r H$m {H$VZm à{VeV hmoZm Mm{hE ?
		  In good quality hay moisture content should be

	 (A)	 10	 (B)	 15	 (C)	 20	 (D)	 22

	 47.	 N>moQ>r Am§V _| H$m¡Z-gm nmMH$ {H$ÊdH$ Zht nm`m OmVm h¡ ?

	 (A)	 boŠQ>og	 (B)	 E_mB©bmo noßQ>rS>oO	 (C)	 Ý`yŠbr`mogmB©S>oO	 (D)	 ao{ZZ

	 	 Which digestive enzyme is not found in small intestine ?
	 (A)	L actase	 (B)	 Amylopeptidase	 (C)	 Nucleosidase	 (D)	 Renin

	 48.	 àm¡T> Jm` H$mo à{V{XZ `y[a`m {IbmZo H$m A{YH$V_ ñVa Š`m h¡ ?

	 (A)	 25 J«m_	 (B)	 50 J«m_	 (C)	 75 J«m_	 (D)	 100 J«m_
		  What is the maximum level of urea feeding for adult cattle/day ?
	 (A)	 25 gm	 (B)	 50 gm	 (C)	 75 gm	 (D)	 100 gm

	 49.	 ¢̂g _| EH$ {H$bmo 7 à{VeV dgm dmbm XÿY hoVw S>r. gr. nr. Am¡a Q>r. S>r. EZ. {H$VZm Amdí`H$ h¡ ?

	 (A)	 63  J«m_ Am¡a 460 J«m_			   (B)	 75  J«m_ Am¡a 500 J«m_

	 (C)	 55  J«m_ Am¡a 400 J«m_			   (D)	 70  J«m_ Am¡a 450 J«m_
		  DCP and TDN requirement in Buffalo for one kg of milk having 7% fat
	 (A)	 63 gm and 460 gm			   (B)	 75 gm and 500 gm
	 (C)	 55 gm and 400 gm			   (D)	 70 gm and 450 gm	

	 50.	 àmoQ>rZ Omo é_Z _| ì`mnH$ ê$n go KwbZerb Zht hmoVo h¢ ________ H$hbmVo h¡§ &

	 (A)	 ~mB-nmg àmoQ>rZ			   (B)	 é_Z AdH«${_V àmoQ>rZ

	 (C)	Agbr àmoQ>rZ			   (D)	 J¡a àmoQ>rZ ZmBQ´>moOZ `m¡{JH$
		  Protein that are not extensively degraded in the rumen are called
	 (A)	 By-pass proteins			   (B)	 Rumen degradable protein
	 (C)	 True protein			   (D)	 Non protein nitrogen compound
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	 51.	 Mmam Ho$ KQ>H$ H$m M`Z H$a| Omo VQ>ñW {S>Q>O]Q> \$mB~a (EZ. S>r. E\$.) H$m {hñgm Zht h¡ 

	 (A)	 ñQ>mM©	 (B)	 ho_rgoë`wbmoO	 (C)	 {bJ{ZZ	 (D)	 goë`wbmoO
		  Select the component of forage that is not a part of Neutral Detergent Fiber (NDF)
	 (A)	 Starch	 (B)	 Hemicellulose	 (C)	L ignin	 (D)	 Cellulose

	 52.	 dh H$m¡Z-gm ^m¡{VH$ VarH$m h¡ Omo {ZåZ JwUdÎmm dmbo K>mg H$mo AÀN>m ~ZmVm h¡ ?

	 (A)	 Mmo{n§J			   (B)	 J«mBZqS>J	

	 (C)	 gmoqH$J			   (D)	 ^mn {d{Y
		  The physical methods employed to improve the poor quality roughage
	 (A)	 Chopping			   (B)	 Grinding	
	 (C)	 Soaking			   (D)	 Steam processing

	 53.	 MyOm| _| pñbß‹S> Q>oÝS>Z Zm_H$ {~_mar {H$gH$s H$_r go hmoVr h¡ ?

	 (A)	 qOH$			   (B)	 H$mo~mëQ>	

	 (C)	Am`moS>rZ			   (D)	 _¢JZrµO
	 	 Slipped Tendon in chicks is a condition caused due to deficiency of
	 (A)	 zinc			   (B)	 Cobalt	
	 (C)	 Iodine			   (D)	 Manganese	

	 54.	 Xþ½Y> XoZo dmbr Jm` Ho$ ameZ _| 60% à{VeV go A{YH$ AmZmO XoZo go H$m¡Z-gr {~_mar hmo gH$Vr h¡ ?

	 (A)	 H$sQ>mo{gg	 (B)	 E{gS>mo{gg	 (C)	 nmBH$m	 (D)	 J«mg {Q>Q>oZr
		F  eeding concentrate above 60% in ration of dairy cow will lead to
	 (A)	 Ketosis	 (B)	 Acidosis	 (C)	 Pica	 (D)	 Grass-tetany

	 55.	 _m§g H$m JbZm _w»`V: {H$gH$s H$_r Ho$ H$maU hmoVm h¡ ?

	 (A)	 {dQ>m{_Z - E			   (B)	 {dQ>m{_Z - gr	

	 (C)	 {dQ>m{_Z- B©			   (D)	 {dQ>m{_Z - S>r
	 	 Muscular dystrophy is due to deficiency of

	 (A)	 vitamin A			   (B)	 vitamin C	

	 (C)	 vitamin E			   (D)	 vitamin D

	 56.	 ẁdm ~N>S>m| _| _______ XÿY H$m OëXr O_Zo _| _XX H$aVm h¡ Am¡a Bg Vah CgH$s nmMZ epŠV _| gwYma H$aVm h¡ &

	 (A)	 àmo~m`mo{Q>Šg			   (B)	 S>mBQ> E{g{S>\$m`g©		

	 (C)	 `rñQ> H$ëMa			   (D)	 _moëS> AdamoYH$
		  In young calves the _______ facilitate early clotting of milk and there by improve its digestibility.

	 (A)	 Probiotics	 	 	 (B)	 Diet acidifiers	

	 (C)	 Yeast culture			   (D)	 Mold inhibitors
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	 57.	 {ZåZ{b{IV _| go {H$g_| àmoQ>rZ H$s _mÌm g~go A{YH$ h¡ ?

	 (A)	 Mmdb H$s ^ygr			   (B)	 Om¡ H$m A§Hw$a

	 (C)	 MwH$ÝXa Im (_mobogog)			   (D)	 gmBQ´>g Im (_mobogog)
		  Which of the following has the highest protein content ?
	 (A)	 Rice-bran			   (B)	 Barley’s sprout	
	 (C)	 Beat molasses			   (D)	 Citrus molasses

	 58.	 gyMr – I H$s gyMr – II Ho$ gmW gw_o{bV H$a| &

	 	 gyMr – I ({dQ>m{_Z)				    gyMr – II (amoJ)

	 a.	 Q>moH$mo\o$amb			   i.	 pñbnS> Q>|S>Z

	 b.	 amB~moµâbo{dZ>			   ii.	 nmJb MyOo

	 c.	 H$mobrZ			   iii.	 H$mbr Or^

	 d.	 {Z`m{gZ			   iv.	 _wS>o hþE n§Omo H$m bH$dm
	 a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 ii	 iii	 iv	 i
	 (C)	 ii	 i	 iv	 iii
	 (D)	 iv	 iii	 i	 ii

		  Match List – I with List – II.
		  List – I (vitamin)				L    ist – II (Disease)

	 a.	 Tocopherol			   i.	 Slipped Tendon

	 b.	 Riboflavin	 	 	 ii.	 Crazy Chicks

	 c.	 Cholin			   iii.	 Black Tongue

	 d.	 Niacin			   iv.	 Curled toe paralysis
	 a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 ii	 iii	 iv	 i
	 (C)	 ii	 i	 iv	 iii
	 (D)	 iv	 iii	 i	 ii

	 59.	 Hw$¸w$Q> H$m {ZåZ _| go H$m¡Z-gm amoJ _mBH$mo{Q>H$ amoJ h¡ ?

	 (A)	 H$moŠgr{S>`mo{gg			   (B)	 _maoŠg	

	 (C)	 \o$ìg			   (D)	 ~å~b \y$Q>
		  Which of the following disease of poultry is mycotic disease ?

	 (A)	 Coccidiosis			   (B)	 Mareks	

	 (C)	F aves			   (D)	 Bumble foot
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	 60.	 ao~rµO d¡ŠgrZ CËnmXZ _| H$m¡Z-gm dm`ag à`moJ _| bm`m OmVm h¡ ?
	 (A)	 Jbr H$m {dfmUw			 
	 (B)	 `yamo{n`Z M_JmXa bmgm {dfmUw
	 (C)	 O_m hþAm {dfmUw			 
	 (D)	 bmJoµO M_JmXS> bmgm {dfmUw

		  The virus used for rabies vaccine production is
	 (A)	 Street virus			 
	 (B)	 European bat lyssa virus
	 (C)	F ixed virus			 
	 (D)	L agos bat lyssa virus

	 61.	 Amo. AmB©. B©. Ho$ {ZX}e Ho$ AZwgma KmoS>o H$mo ½b¢S>g© {~_mar _| {H$VZo {XZmo§ H$m ŠdmaoZQ>mBZ _| aIZm A{Zdm ©̀ h¡ ?

	 (A)	 21  {XZ			   (B)	 45  {XZ	
	 (C)	 28  {XZ			   (D)	 14  {XZ
		  OIE recommended quarantine days in ‘Glanders’ in equine
	 (A)	 21 days			   (B)	 45 days	
	 (C)	 28 days			   (D)	 14 days

	 62.	 {H$g {~_mar _| nmoñQ>_mQ>©_ n[ajU Zht {H$`m OmVm h¡ ?

	 (A)	 ao~rµO			   (B)	 EoÝWo«Šg	

	 (C)	A\$am			   (D)	 Vno{XH$
		  Postmortem examination is contraindicated for the diseases

	 (A)	 Rabies			   (B)	 Anthrax	

	 (C)	 Botulism			   (D)	 Tuberculosis

	 63.	 ZoJar~mo{S>g {H$g amoJ _| nm`m OmVm h¡ ?

	 (A)	 ao{~µO			   (B)	IwanH$m _w±hnH$m amoJ	

	 (C)	 EoZW«oŠg			   (D)	 [aÝS>anoñQ>
		  Nagri bodies is found in which disease ?
	 (A)	 Rabies			   (B)	F MD	
	 (C)	 Anthrax			   (D)	 Rinderpest

	 64.	 hmoJ-H$mobam {H$gHo$ H$maU hmoVm h¡ ?

	 (A)	 ~¡ŠQ>ra`m (OrdmUw)			   (B)	 {dfmUw

	 (C)	 àmoQ>moµOmoAm			   (D)	 CnamoŠV _| go H$moB© Zht
		  Hog-cholera is caused by 
	 (A)	 Bacteria			   (B)	 Virus
	 (C)	 Protozoa	 	 	 (D)	 None of the above
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	 65.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ gw_o{bV Zht h¡ ?

		 gyMr – I		  gyMr – II 

	 	 (amoJ)		    (Q>rH$m)

	 (A)	 BÝQ>oamoQ>mŠgr{_`m		  _ëQ>rH$ånmoZoÝQ>

	 (B)	 ãb¡H$ ŠdmQ>©a		  nmobrd¡boÝQ>	

	 (C)	 EM.Eg.		  {Q>í`y H$ëMa

	 (D)	 EÝW«oŠg		  ñnmoa d¡ŠgrZ
		  Which of the following is not correctly matched ? 

		L ist – I		L  ist – II
		 (Disease)	 (Vaccine)

	 (A)	 Enterotoxemia		  Multicomponent

	 (B)	 Black quarter		  Polyvalent

	 (C)	 H.S.		  Tissue culture

	 (D)	 Anthrax		  spore vaccine

	 66.	 Jm` Ho$ XÿY H$s VwbZm _| _mZd-XÿY _| Á`mXm _mÌm _| ______ h¡ &

	 (A)	 ìho àmoQ>rZ			 

	 (B)	 H¡${gZ

	 (C)	 b¡ŠQ>moµO			 

	 (D)	 D$na H$m (A) Am¡a (C) XmoZm| ghr h¡	
		  Human milk contains higher amount of ______ as compared to bovine milk.

	 (A)	 Whey proteins			 

	 (B)	 Casein

	 (C)	L actose			 

	 (D)	 Both above option (A) and (C) is correct

	 67.	 Xþ½Y Ho$ nmñQ²>`amBOoeZ ßbm§Q> _| {ZåZ{b{IV CCP {dMma {H$`m OmVm h¡

	 (A)	 g_`-VmnH«$_ `w½_H$ A§{V_ hrQ> Ho$ ~mX

	 (B)	 g_`-VmnH«$_ `w½_H$ A§{V_ hrQ> Ho$ nhbo

	 (C)	 g_`-VmnH«$_ `w½_H$ A§{V_ erVbVm Ho$ ~mX

	 (D)	 Cn`w©ŠV (A) Am¡a (C) XmoZm| ghr h¡
	 	 In a milk pasteurization plant, the following can be considered as a CCP

	 (A)	 Time temperature combination after final heating section

	 (B)	 Time temperature combination before final heating section

	 (C)	 Time temperature combination after final cooling section

	 (D)	 Both above statement (A) and (C) is correct
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	 68.	 dZñn{V Kr AWdm _mJ©amBZ H$s {_bmdQ> OmZZo Ho$ {bE H$m¡Z-gm n[ajU {H$`m OmVm h¡ ?

	 (A)	 dmCS>mEZ narjU			   (B)	 hmoQ>rg narjU

	 (C)	 [agmoagrZmob narjU			   (D)	 hoZa H$m narjU
		  Test carried out to detect adulteration of milk fat with vanaspati or margarine
	 (A)	 Baudouin test			   (B)	 Hotis test
	 (C)	 Resorcinol test			   (D)	 Hehner’s test

	 69.	 `y.Eg. \y$S> E§S> S´>J ES>{_{ZñQ´>oeZ (E\$. S>r. E.) Zo Eogo {Z`_ Omar {H$E h¡ Omo EMEgrgrnr {gÕm§Vmo§ H$mo _N>br 
Am¡a g_wÐr ImÚ CËnmXmo| Ho$ {bE A{Zdm`© ~ZmVo h¢

		  The US Food and drug administration (FDA) issued regulations that made HACCP principles 
mandatory for fish and sea food products in

	 (A)	 2001	 (B)	 1995	 (C)	 1998	 (D)	 2000

	 70.	 Jm¡OmVr` XÿY H$m {h_m§H$ ____  hmoVm h¡ &
	 (A)	 – 0.53 go – 0.57°C			   (B)	 1.0 go 2.0°C	

	 (C)	 1.5 go 2.5°C			   (D)	 2.5 go 3.5°C

	 	 The freezing point of bovine milk is ranged

	 (A)	 – 0.53 to – 0.57°C			   (B)	 1.0 to 2.0°C	

	 (C)	 1.5 to 2.5°C			   (D)	 2.5 to 3.5°C

	 71.	 J_© XÿY _| b boŠQ>mo½bmoã`ybrZ H$s _mÌm hmoVr h¡
	 (A)	 0.20 J«m_/100 J«m_ XÿY _|			   (B)	 0.28 J«m_/100 J«m_ XÿY _|
	 (C)	 0.38 J«m_/100 J«m_ XÿY _|			   (D)	 0.40 J«m_/100 J«m_ XÿY _|
		  b-lactoglobulin in warm milk is

	 (A)	 0.20 gm/100 gm of milk			   (B)	 0.28 gm/100 gm of milk

	 (C)	 0.38 gm/100 gm of milk			   (D)	 0.40 gm/100 gm of milk

	 72.	 H«$s_ Ho$ n¥WŠH$aU Ho$ {bE g§VmofOZH$ Vmn_mZ bJ^J __________ h¡ &
		  Satisfactory temperature for separation of cream is around
	 (A)	 30°C			   (B)	 40°C	
	 (C)	 45°C			   (D)	 48°C

	 73.	 H$m¡Z-gm KQ>H$ O_o hþE S>ogQ>© _| hmBS´>mo\$s{bH$ Am¡a hmBS´>mo\$mo~rH$ KQ>H$m| H$mo ~aH$ama aIVm h¡ ?

	 (A)	 ñdrQ>Za			   (B)	 ñQ>o~bmBOa

	 (C)	 B©_bgr\$m`a (nm`grH$mar)			   (D)	 EëH$ZmB©Oa
	 	 In frozen desserts, the following ingredient keeps the hydrophylic and hydrophobic components 

intact
	 (A)	 Sweetener	 	 	 (B)	 Stabilizer
	 (C)	 Emulsifier	 	 	 (D)	 Alkalinizer



	 -18-	 92

	 74.	 Ho$grZ H$m àmoQ>rZ XjVm AZwnmV h¡
	 	 Casein has a protein efficiency ratio (PER) of
	 (A)	 2.69 – 2.80	 (B)	 2.40 – 3.60	 (C)	 2.99 – 3.30	 (D)	 3.10 – 3.35

	 75.	 ^maVr` _mZH$ Ho$ AZwgma _rR>m g§K{ZV XÿY _| Hw$b R>mog nXmW© H$s à{VeVVm h¡
		  Total solid % in sweetened condensed milk as per Indian standard is
	 (A)	 21	 (B)	 26	 (C)	 31	 (D)	 36

	 76.	 g_m§JrH$aU Ho$ ~mX gVhr Hy$ba _| AmBgH«$s_ {_lU H$mo R>ÊS>m {H$`m OmZm Mm{hE

	 (A)	 14° g|Q>rJ«oS>	 (B)	 24° g|Q>rJ«oS>	 (C)	 34° g|Q>rJ«oS>	 (D)	 44° g|Q>rJ«oS>
	 	 In surface cooler the ice-cream mix should be cooled to after homogenization
	 (A)	 14°C	 (B)	 24°C	 (C)	 34°C	 (D)	 44°C

	 77.	 _ŠIZ _| {\$er {S>\o$ŠQ> AdJwU {H$gHo$ CËnmXZ go hmoVm h¡ ?
	 (A)	 Q´>mB{_Wmbo_rZ			   (B)	 boŠQw>bmoO
	 (C)	 hmBS´>moŠgr {_WmBb naâ`yab			  (D)	AË`{YH$ _mÌm _| S>mBE{gQ>mBb
		F  ishy defect in butter is mainly due to the production of
	 (A)	 Trimethylamine			   (B)	L actulose
	 (C)	 Hydroxy methyl furfural			   (D)	 Excessive amount of diacetyl

	 78.	 E\$.Eg.Eg.E.AmB©. Ho$ AZwgma AmB©g-H«$s_ _| dZñn{V dgm H$s {H$VZr _mÌm {_bm`r Om gH$Vr h¡ ?

	 (A)	 2 à{VeV			   (B)	 5 à{VeV

	 (C)	 7.5 à{VeV			   (D)	 Hw$N> ^r Zht {_bm`m Om gH$Vm h¡

		  As per FSSAI the amount of vegetable fat which can be added in ice-cream is

	 (A)	 2%			   (B)	 5%

	 (C)	 7.5%			   (D)	 can not be added

	 79.	 nr.E\$.E. Ho$ AZwgma gånyU© Xþ½Y nmCS>a _| H$_ go H$_ dgm hmoZm Mm{hE

	 (A)	 20 à{VeV			   (B)	 22 à{VeV	

	 (C)	 24 à{VeV			   (D)	 26 à{VeV

		  According to PFA, whole milk powder should contain fat not less than
	 (A)	 20%			   (B)	 22%	
	 (C)	 24%			   (D)	 26%

	 80.	 AÀN>r JwUdÎmm dmbr MrO ~ZmZo Ho$ {bE XÿY _| Ho$grZ / dgm H$m AZwnmV hmoZm Mm{hE
		  The casein/fat ratio in milk for good quality cheese making should be

	 (A)	 0.50			   (B)	 0.70	

	 (C)	 0.90			   (D)	 1.00
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	 81.	 {Og nXmW© _| àr-~m`mo{Q>H$ Am¡a àmo-~m`mo{Q>H$ XmoZmo hmo, Cgo Š`m H$hm OmVm h¡ ?

	 (A)	 {gå~m`mo{Q>H$			   (B)	 EÝQ>r-~m`mo{Q>H$	

	 (C)	 E~m`mo{Q>H$			   (D)	 ~m`moñQ>o{Q>H$
		  A substance containing both pre-biotics and pro-biotics is called 
	 (A)	 Symbiotic			   (B)	 Antibiotic	
	 (C)	 Abiotic			   (D)	 Biostatic

	 82.	 {ZåZ _| go H$m¡Z-gm Za_ MrO H$m {Z_m©U H$aVm h¡ ?

	 (A)	 H$_ _mÌm _| XÿY H$m Cn`moJ			

	 (B)	 _Å>o H$m N>moQ>m {hñgm {ZH$mbZm

	 (C)	A{YH$ _mÌm _| XÿY H$m Cn`moJ	

	 (D)	 àmoQ>rZ H$m N>moQ>m {hñgm {ZH$mbZm
		  Which of the following leads to the formation of soft-cheese ?
	 (A)	 Using less amount of milk		
	 (B)	 Removal of small portion of whey
	 (C)	 Using more amount of milk		
	 (D)	 Removal of small amount of protein

	 83.	 aoZoQ> _| g~go _hËdnyU© EÝOmB_ H$m¡Z-gm h¡ ?
	 (A)	 H$mB©_mo{gZ			   (B)	 ßbmO_rZ	
	 (C)	 amB~moÝ`ypŠbEog			   (D)	 Ho$Q>mboO
	 	 The most important enzyme in rennet is
	 (A)	 Chymosin			   (B)	 Plasmin
	 (C)	 Ribonuclease			   (D)	 Catalase

	 84.	 ImÚ nXmW© {OgH$m Cn`moJ {H$̀ m OmVm h¡  CZ_| H$_ go H$_ {H$VZm àmo~`mo{Q>H$ H$m hmoZm Amdí`H$ h¡ ?
	 (A)	 105 cfu/ml			   (B)	 106 cfu/ml	
	 (C)	 1020 cfu/ml			   (D)	 1015 cfu/ml

		  Minimum probiotic count in a food product to be present at the time of consumption
	 (A)	 105 cfu/ml			   (B)	 106 cfu/ml	
	 (C)	 1020 cfu/ml			   (D)	 1015 cfu/ml

	 85.	 H¡$b{e`_ H$s _mÌm Á`mXm hmoZo go H$mo-ào{g{nQ>oQ>> H$s KwbZerbVm na Š`m à^md n‹S>Vm h¡ ?

	 (A)	 ~T>Vr h¡			   (B)	 H$_ hmoVr h¡

	 (C)	 Zm ~T>Vm h¡ Am¡a Z H$_ hmoVm h¡ 	 (D)	 g^r CnamoŠV H$WZ JbV h¡ 

		  Higher the calcium content in a co-precipitate the solubility

	 (A)	 Increases			   (B)	 Decreases

	 (C)	 Neither increases nor decreases	 (D)	 All the above options are incorrect
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	 86.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma H$mo Mw{ZE &
		  gyMr – I	 gyMr – II
		  (nZra H$m àH$ma )	 (àmoQ>rZ %)
	 a.	 MS²>S>ma	 1.	 29.6
	 b.	 Jm¡S>m	 2.	 49.4
	 c.	 g¡ngmJmo	 3.	 26.0
	 d.	 n[a{_gmZ	 4.	 41.6
			   a	 b	 c	 d
	 (A)		  1	 3	 4	 2
	 (B)		  3	 1	 4	 2
	 (C)		  3	 1	 2	 4
	 (D)		  1	 3	 2	 4

		  Match List – I with List – II and select the correct answering using the code given below the list.
	 	L ist – I		L  ist – II
		  (Type of cheese)	                          (Protein %)
	 a.	 Cheddar	 1.	 29.6
	 b.	 Gouda	 2.	 49.4
	 c.	 Sapsago	 3.	 26.0
	 d.	 Parmesan	 4.	 41.6
			   a	 b	 c	 d
	 (A)		  1	 3	 4	 2
	 (B)		  3	 1	 4	 2
	 (C)		  3	 1	 2	 4
	 (D)		  1	 3	 2	 4

	 87.	 ^¢g Ho$ XÿY _| ã`yQ>mB©[aH$ Aåb H$s {H$VZr à{VeVVm hmoVr h¡ ?
		  Butyric fatty acid % (percent) in Buffalo milk is 
	 (A)	 3.2	 (B)	 3.6	 (C)	 4.0		  (D)	4.4

	 88.	 hmo_moOoZmBOoeZ H$s Hw$ebVm {H$g MrO go Om±M {H$`m OmVm h¡ ?
	 (A)	 H«$sq_J-gyMr			   (B)	 \o$amb-gyMr
	 (C)	 CnamoŠV (A) Am¡a (B) ghr h¡		  (D)	 H$moB© ^r Zht h¡ 

	 	 Homogenization efficiency can be checked by

	 (A)	 Creaming-index			   (B)	F arrall-index

	 (C)	 Both (A) and (B) are correct	 (D)	 None of the above

	 89.	 g§_mJrH¥$V XÿY _| dgm Jmo{bH$mAm| H$s g§»`m Ag§_mJrH¥$V XÿY H$s VwbZm _| {H$VZm JwZm A{YH$ hmoVm h¡ ?
	 (A)	 1,000 JwZm	 (B)	 5,000 JwZm	 (C)	 10,000 JwZm	 (D)	 15,000 JwZm

	 	 The number of fat globules in homogenized milk is about how much time greater than in untreated 
milk 

	 (A)	 1,000 times	 (B)	 5,000 times	 (C)	 10,000 times	 (D)	 15,000 times
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	 90.	 hmo_moOoZmBOoeZ dgm ½bmoã`yëg Ho$ AmH$ma H$mo {H$g AmH$ma VH$ H$_ H$a XoVm h¡ ?
	 (A)	 0.5µ go H$_			   (B)	 0.9µ go H$_	

	 (C)	 1.5µ go H$_			   (D)	 2.0µ go H$_

	 	 Homogenization reduce the size of fat globules to which size ?
	 (A)	L ess than 0.5µ			   (B)	L ess than 0.9µ	
	 (C)	L ess than 1.5µ			   (D)	L ess than 2.0µ

	 91.	 Xþ½Y H$m H$moñQ>ba g§»`m {ZåZ _| go {H$gHo$ gå~ÝYm| H$mo Xem©Vm h¡ ?

	 (A)	Aåb/bdU			   (B)	 H¡$b{e`_/_¡JZ¡{e`_

	 (C)	 gmBQ´>oQ>/\$moñ\o$Q>			   (D)	 ŠbmoamBS>/boŠQ>moO
		  Koestler number of milk denotes the relationship between 
	 (A)	 Acid/salt			   (B)	 Calcium/Magnesium
	 (C)	 Citrate/Phosphate			   (D)	 Chloride/Lactose

	 92.	 gm_mÝ` Xw½Y H$m {h_m§H$ {H$VZm hmoVm h¡ ?

		  The freezing temperature of normal milk is 

	 (A)	 0.44°C	 (B)	 0.55°C	 (C)	 0.66°C	 (D)	 0.77°C

	 93.	 ZmBQ´>oQ> \$sZmob S>mB©gë\$mo{ZH$ E{gS> Ho$ gmW à{V{H«$`m H$aVm h¡ Am¡a EH$ ZmBQ´>moì`wËnÞ CËnÞ H$aVm h¡ {Oggo 
jmar` ÐmdU CËnÞ hmoVm h¡ 

	 (A)	 nrbm-a§J			   (B)	 Jwbm~r-a§J	

	 (C)	 ham-a§J			   (D)	 bmb-a§J
		  Nitrate reacts with phenol disulphonic acid and produces a nitroderivative in which alkaline solution 

develops 

	 (A)	 Yellow-colour			   (B)	 Pink-colour	

	 (C)	 Green-colour			   (D)	 Red-colour

	 94.	 nr. E\$. E. {Z`_ Ho$ AZwgma a~S>r _| Xþ½Y eH©$am H$s _mÌm hmoVr h¡ 

	 (A)	 22 à{VeV	 (B)	 15 à{VeV	 (C)	 19 à{VeV	 (D)	 17 à{VeV

		  According to P.F.A. rules the lactose present in Rabri should be 

	 (A)	 22 percent	 (B)	 15 percent	 (C)	 19 percent	 (D)	 17 percent

	 95.	 {ZåZmoŠV _| go XÿY H$m Ðdr-JwU H$m¡Z-gm h¡ ?

	 (A)	 í`mZVm ({dñH$mo{gQ>r)			   (B)	 bMrbmnZ	

	 (C)	 í`mZVm Am¡a bMrbmnZ			   (D)	 Obr`Vm
	 	 Which of the following is the fluid property of milk ?

	 (A)	 viscosity			   (B)	 Elasticity	

	 (C)	 Visco-elasticity			   (D)	 Aqueous
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	 96.	 EJ-_mH©$ Ho$ AZwgma aoS>-bo~b Kr _| Amo{bH$ E{gS> H$s A{YH$V_ gr_m ________ h¡ &
		  As per AG-MARK maximum limit of oleic acid in red lebel ghee is 

	 (A)	 1.0%			   (B)	 1.4%	

	 (C)	 1.6%			   (D)	 1.8%

	 97.	 CÜdm©Ya bKw Zbr CËgO©H$ Am_Vm¡a go OmZm OmVm h¡ 

	 (A)	 ßboQ> CËgO©H$			   (B)	AnH|$Ðr` CËgO©H$

	 (C)	 Ho$bo§S´>m`b CËgO©H$			   (D)	 H$_-Vmn CËgO©H$

		  Vertical short tube evaporator is popularly known as

	 (A)	 Plate evaporator			   (B)	 Centrifugal evaporator

	 (C)	 Calandrial evaporator			   (D)	L ow-temperature evaporator

	 98.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ^m¡{VH$ JwU Ðì` àdmh gå~§Yr JwU Zht h¡ ?

	 (A)	 í`mZVm			   (B)	 gVh-VZmd	

	 (C)	 bMrbmnZ			   (D)	 gwZå`Vm

		  Which one of the following physical property is not a rheological property ?

	 (A)	 Viscosity			   (B)	 Surface tension	

	 (C)	 Elasticity			   (D)	 Plasticity

	 99.	 {ZåZ _| go H$m¡Z-gm g\$mB© H$m _mÜ`_ gd©loîQ> h¡ Omo àmoQ>rZ Am¡a I{ZO bdU H$mo gm\$ H$a XoVm h¡ ?

	 (A)	 jmar` g§KZH$			   (B)	Aåbr` g§KZH$

	 (C)	 gVh {H«$`merb g§KZH$			   (D)	 nmZr

		  Which of the following cleaning medium is best suited for removal of proteins and mineral salts ?

	 (A)	 Alkaline solution			   (B)	 Acid solution

	 (C)	 Surface active solution			   (D)	 Water

	 100.	 {H$g h[aV-VH$ZrH$s H$m Cn`moJ S>ò ar CÚmoJ _| ~m`mo-{\$ë_ H$mo hQ>mZo _| Cn`moJ {H$`m OmVm h¡ ?

	 (A)	 ŠbmoarZ S>mBAm°ŠgmBS> H$m Cn`moJ	 (B)	 gmo{S>`_ hmBnmoŠbmoamBQ> H$m Cn`moJ

	 (C)	 O¡{dH$-CËàoaH$ H$m Cn`moJ			   (D)	 Š`yEgrEg H$m Cn`moJ

	 	 Green-technology for removal of bio-films in dairy-industry
	 (A)	 usage of chlorine dioxide		  (B)	 usage of sodium hypochlorite
	 (C)	 usage of bio-detergents			   (D)	u sage of QACS
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